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TALENT SEARCH EXAM

| INSTRUCTIONS |

1. Immediately fill in the particulars on this page of the Test Booklet with
Blue/Black Ball Point Pen. Use of pencil is strictly prohibited.

2. Test duration is ONE HOUR(60MINUTES)

3. The Test Booklet consists of 40 questions of 4 marks each. The
maximum marks are 160.

4. There are four sections in the question paper.
The distribution of question, subject wise in each part is mentioned

below.

SCIENCE — 10 Questions
SOCIAL SCIENCE — 10 Questions
MATHEMATICS — 10 Questions
MENTAL ABILITY —10 Questions

5. Candidates will be awarded Four marks (+4) each for indicated correct
response of each Question& One mark (-1) deduct for indicated
incorrect response. No deduction from the total score will be made if
no response is indicated.

6. No candidate is allowed to carry any textual material, printed or
written, bits of papers, mobile phone, any electronic device etc.

7. After the completion of the test, the candidate must hand over the
Answer Sheet to the Invigilator on duty in the Room/Hall. However, the
candidates are allowed to take away this Test Booklet with them.
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SCIENCE

Friction depends on the of surfaces. TEl WﬁmmmaﬂmqﬁhmwﬂmW%aﬁWﬁﬁ

(a) Thickness (b) Hardness T 31f fArera-gad g |

(c) Nature (d) None of these.

38. QUALITY

T TG T R MR T @ GAVILLA (b) YTILAUO

(@) Hier @®HoRAT © YTIIAUQ (@ YTLIAUQ

M) UPpfa @) 399 Y IS el :

Direction (Q39) : There is some relationship between the first and the

Force per unit area is called- second figures of the problem figures set. If these is similar relationship
(a) Density (b) Pressure between the third and fourth figures of the same set, select the correct
(c) Volume (d) Acceleration. figure from the set of answer figures for questions mark (?)
S Ufdl 3bTS &SIt ) T bl ST 3- e (Q39): Ry s feef & Uga SIR W i & Ta oo Ty g
() Uicd (@) a1 IS A IHM THE & AR 3R A ik & S g gey g, A v g
() ST (&) RO (7) & fog IR o3l & A Qg epfa gl
Which of the following is contact force- 39.

(a) Electrostatic force  (b) Gravitational force _ A % . 9

(c) Friction (d) None of these. :
frafefea & 3 o ¥ud ga 8-

= |
@) aur g @) 3T I PIS T8I @) (b) © d)
i : : ”

\(/;/)hg_tslsr:grr:trﬁ:mmate t'{g? Ia;keear; to degenerate cotton clothes? Direction: Which is embedded in one of the answer figure?

(c) 1-2 weeks (d) several years RERACEIE zlilﬁﬁﬁqﬂﬂ ”EEI%?

HUN b HUS P [a°ecT B ATHT fHa-T THI T 8 40.

@) 295 TgH @) 199 ;

@M 192 I COEEEL]

X) (@) (b) (© (d)
Three different zones of flame are:
Luminous zone, non luminous zone used......
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36.

37.

U AT UTSTH MONKEY &1 632471 31X GANGA 1 58258 & U H

FHeag fBaT T g | A MONGYA & 3 Hifed fasa SiTa 82
(a) 638152 (b) 543127
(c) 632518 (d) 671854

Direction (Q36) Find out which of the figure (a), (b), (c), (d) can
complete the pattern given in figure (X).

fIG=T (Q36) A BRI s MHH (), (b), (), (d) B A DA w1 oy ()
RumiciH R IHd 82

X) (@) () (d)

What is the number of rectangles in the following figure?

fofafad o o smadl &) TR 8?2
|

(@6 (b)7

(c)8 (d)9

Direction: (Q38): In each of the following questions, you are given a
combination of alphabets and/or numbers followed by four
alternatives (a), (b), (c) and (d). Choose the alternatives which most
closely resembles the mirror-image of the given combination.

=T (038): Fufafad ude Uy &, ot qufaTer iR/ar Twarait
1 U T fear T g forids a1g °R faded (a), (b), (o) 3R (d) faT

CATSE 2024
(a) Dark zone (b) Combustibe zone
(c) none combustible zone (d) all of above
@ fT S-S 8 BIA &

THTRIE &, SHYHTRIA &5,

(o) SHUPTR & (@) eI &

QEEERICEE] (@) SWiad wft

World’s first oil well was drilled in which country?

(a) USA (b) India

(c) China (d) Russia

FERICARENEREEIIER R R R
@) 3mR®r (9) URd

Q) %ﬂ=r (|) &9

Which irrigation system can be used directly near roots
(a) Drip system (b) Sprinkles system
(c) Bore-wells (d) Canal system.

g R yumeht &1 ST WY SISt & ury fobar o har g
@) fsu vommett (@) o sH1a uTTe
WERES] () TR yumet|

Who discovered fermentation
(a) Ben Pasteur (b) Louis Pasteur

(c) Flemming (d) Edward Jenner.
forua &1 @rel fbga ot

(@) STUTR EKERIET

() AT (9) TSTS SR |
Example of unicellular is-

(a) Amoeba (b) Paramecium

(c) Both (a) and (b) (d) None of these.
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10.

11

12.

13.

14.

(@) TR
@ &Y (@) 3R (@) (9) 3TH A PIs TaT|

Menstruation occurs once in-
(a) 24-25 days (b) 28-30 days

(c) 30-40 days (d) 100 days.
Ry o U SR gl 8-

() 24-25 fe (@) 28-30 f&
@) 30-40 f&1 (@) 100 f&A1

SOCIAL SCIENCE

The national archives of India is located in?

(a) Mumbai (b) Landon
(c) New Delhi (d) Chennai
YR BT AY T IAERTR Fel fRUd 72

() 4eg (@) cie
@) 7% feeett ©EEH

Haider Ali became the ruler of Mysore in?

2R 3feft TR T b B 12

(@) 1761 (b) 1775

(c) 1760 (d) 1767

Which of the following is a ubiquitous resource?
(a) Air (b) River

(c) Iron ore (d) Petroleum
frafafed § 4 &H 91 U6 Jdeard e g2
@) g () Tt

() TS 3D I EINEE

Water is a resource?
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Directions (Q32): In each of the following questions, a
alphabet/numeral series is given with one or more term missing.
Choose the correct alternative that will continue the same pattern and
replace the question mark in the given series.

1w (032): Faferiad udie usl H, Te quinTe/3id @l 1S &
o Uep a1 31fh Ug i &1 98 Tl faded T S 9 e &1
SR T 3R <1 718 o B Uy fag &1 ufaefid s

Y,B T,G,O0O,?

@N (b) M

()L (d)K

If + means —, — means x,=~ means + and X means -, then

15-3+10x5+5="
g+ BTl - - BT 31 x, + BT 3f + AR x BT3RS = B, Al
15—-3+10x5+5="

@5 (b) 22

(c) 48 (d) 52

Direction(Q34): In each of the following questions, a set of figures
carrying certain characters, is given. Assuming that the characters in
each set follow a similar pattern, find the missing character in each
case.

fIERT (Q34): FRAfIRad ud® Uy &, & qull ard! Spfadl &1 Uh
g fear g | g8 1Hd gU 6 U Te # quf U 90 e &1

I H3d 2, U J1Hd & A1adl IiRa @it

H8e lb 27 24 26 27

=

35 43 9
() 49 (b) 76
(c) 89 (d) 94

In a certain language MONKEY is coded as 632471 and GANGA is coded
as 58258. Then how is MONGYA coded?
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29.

30.

31.

How many diagonals does regular hexagon have?
TP Yoy A fara fawuf g1d &2

(a) 2 (b)8

(©)9 (d) none of these

In the given figure, ABCD is a trapezium in which AB = 7¢cm, AD =
BC = 5cm,DC = x cm and the distance between AB and DC is 4cm
then the value of x is:

1S 3npfa W, ABCD U e Tgys & fors AB=7cm,
AD=BC=5cm, DC=x T} 3R AB 3R DC & S P gt 4cm 8, A x BT
AH R 2

xXam

L /<
@
% 4cm _§7
A B
7cm

(a) 16cm (b) 13cm
(c) 19cm (d) cannot be determine
() 16cm (™) 13cm
@) 19cm @ Fruffia T8l foar s aear

MENTAL ABILITY
Directions (Q31): (In each of the following questions, a number series is
given with one term missing. Choose the correct alternative that will
continue the same pattern and replace the question mark in the given
series.
4w (Q31): (Rufead ude Uy o, e T oiaan <1 18 3 foras
TS U qd & | I8 Tet [apeq g ot gaM de &1 okt 7@ ok

TS e § uy g o) ufarafod |
11, 13,17, 19, 23, 25, ....... ?

(a) 26 (b) 27

(©) 29 (d) 37
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(a) Biotic (b) Abiotic
(c) Non-renewable (d) Human
o T IR

@) Sfdp @) Srifas
@ 3FdiHRUg (%) {4

The Alpine meadows are used for what?
(a) Cultivation (b) Horticulture

(c) Mining (d) Grazing

3IeUTS U1 & Hel ol SuTT g forg oo s 82
@) Tar (@) IATar

QRCEE| (&) TRTS

The percentage of the total surface area of the Earth that is covered
by land is

Tt % Bl A6 & STURRE ol YR GRI PR paTmarg
(a) 50% (b) 30%

(c) 40% (d) 60%

The day the constitution come into effect is celebrated as
(a) Independence day (b) National holiday
(c) Republic Day (d) Children’s day

fore fa1 yRdta dfqur arp gan, 38 fod i & = u o g Siran
&

(@) W feay (@) ET sawT

(WAMGE CEISGIEER

Which one of the following is the leader of the Lok Sabha?

(a) President (b) Speaker

(c) Prime Minister (d) Vice-President

ol & 4 &H dleayl 1 UgE 82
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() g fd (F) el
QWEEIERE] CEERERIS]

How many houses are there of Indian Parliament?

YR TGE P a1 b1 T fbd-l g2

@3 (b) 4

(c)2 (d)5

The British Empire was firmly established in?
fofesr wmTeg YR & Sd Aoigdl O AU g
(a) 1853 (b) 1856

(c) 1773 (d) 1858

MATHEMATICS
Which of the following numbers is different from others?
frafoiad 39 o1 O e Rl 3 fim 82
(@)v2 (b)V3
ORZ (d)V5

If doubling a number and adding 20 to the result gives the same answer
as multiplying the number by 8 and taking away 4 from the product,
the number is:

I T TR DY ST B 3R TR0 H 20 Sie TR 6l SR
foreTaT 8 o TRe &1 8  T[ON R 3R TUHEA I 4 FhTem & THH
IR

(a) 2 (b)3

(c)4 (d) 6.

What should come in place of both the question marks in the equation
? V162

V128 ?

eiteRROn H I re R 3 I TR T ST EIfRY - = ﬁ?
(@) 12 (b) 14

(c) 144 (d) 196

You Can Check Your Answer Key & Result on  www.careeracademy.in

24.

25.

26.

27.

28.

CATSE 2024

(2+\@ + 2—/3 + V3-1

vz s ﬁ+1) simplifies to-

2+v3 | 2—/3 , 3-1 W
(2—\/§+2+\/§_'_\/3m)mrn:rsﬂ?r
(b)4 -3

(a) 16 — V3
(©2-+3 (d)2++/3

By what least number 675 be multiplied to obtain a number which is a
perfect cube?

675 @I fh g g7 T I 107 foaT S foh U a8 et gul 94 812
(@5 (b) 6

©7 (d)8

The factors of (x> — 5x2 + 8x — 4) are-
(x3 —5x% + 8x — 4)?%%—
@) (x +2)(x —2)(x — 1)

) (x=2)*(x—1)

(b) (x + D(x +2)(x - 2)
d) (x—2)*(x+1)

A bike and a car were sold for Rs. 4200.00 each. The bike was sold at a
gain of 20% and the car was sold at a loss of 20%. The whole
transaction results in:
(a) Loss of Rs.350

(c) No loss, no gain

(b) Gain of Rs.350
(d) none of these

TP 5% 3R U HR UAP BT 4200.00 T H ST ST 8 | T3P Dl
20% & ATH TR ST T T 3R R BT 20% Pt g1 TR ST 7 U1 TR
-3 BT URUMA §:

(@) 350 U T JH A (@) 350 ST T Y

() PIS THAM T, bl AHTG  (9) TTH ADIS T

In a single throw of a die, the probability of getting a multiple of 3 is:
THh U H1 U IR IS W, 3 HT T[T UIed H3A &1 YTl 6;
(@) 1/2 (b) 1/3
(c)1/6 (d)2/3
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